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2 3 4 5 - о5D46 (-л4)  58 
о5о6'O7ко6о

�46ко 6Vдпо6VEт8

/К�� ' ��! �’/��Л�!/ �О�Л���!&Ь )�  �� О�� �&� О!��&�. 
� О� ��', '� О� �Л� � �� ��О�' &', �� /КО. ���'��&�!Ь �� ��? 

(де 5 – о5D46(-л4) 58 о5о6’O7ко6о, 1 – =V74Iо =е о5D46(-л4) 5, 4 0 – 646ко 6Vдпо6VEт8)
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�45е7пеGе=VEть л45оD4тоDV9 =ео5EVд=8< 
EпеFV4ль=8< пDо7D4<=8< 745е7пеGе==O<

�4O6=VEть 6 <етод8G=8E к45V=ет4E к4DедD8 
=46G4ль=оW лVтеD4туD8

О&���&Ь, �'�Ь Л�!К�, !&�� ���'�ЛЬ�О-Л��О �&О �О� ���� 
��(О�О $�К'ЛЬ&�&' �� ��!&'����� �ОК����К���:

�у6е до5Dе �о5Dе �оEеDед=ьо �о74=о �у6е по74=о �е <о6у оFV=8т8
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�у6е до5Dе �о5Dе �оEеDед=ьо �о74=о �у6е по74=о �е <о6у оFV=8т8

�'�Ь Л�!К�, О&���&Ь ��!&'��� КО��О���&� ����ЛЬ�О�О &�%��'�О�О !&��' 
� ���)��Ь КО �'!��, )О ����О!/&Ь!/ �О $�К'ЛЬ&�&', �� /КО�' �� ���'��&�!Ь 

�� ��!&'����� �ОК����К���:
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'� !&�К�Л�!Ь �� �� О�О�� ���'���/ ' �О&О'�О�' !���!& � � 
&�К��� �����К���:
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���'ЛО�О !���!& '?
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&� ��� �����/ ���&�ЛЬ�О�О ��О О�'/



��!К�ЛЬК� ����О�����, �� ��(' �'�К', � О� ��� ����О&О�К� 
$�%��&�� �� ��(О. О!��&�ЬО. � О� ��О. !''�!��� ���О��� 

 ��К' � �&�?
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поEеDед=ьоN

/ отD8<уN H68дHе 
=еOкVE=у оE6Vту, =V6 

OкVE=у

/ отD8<уN =еOкVE=у 
оE6Vту

О&���&Ь, �'�Ь Л�!К�, /К�!&Ь О!��&� �� ��(О. 
О!��&�ЬО. � О� ��О.:
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ОтD8<уN  4дHе отD8<уN  4дHе =е отD8<уN �е отD8<уN �46ко 6Vдпо6VEт8

'� О& ��'�&� ��  ��ЛЬ�� �����/, ����'К� &� 
�����/ �� ��(О. О!��&�ЬО. � О� ��О.?
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В46ко 6Vдпо6VEт8
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22,2
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В<V==O пу5лVG=о пDедEт468т8 Dе7ульт4т8 E6оTW Dо5от8

УпD46лV=EькV =468Gк8

В<V==O пD4FN64т8 6 ко<4=дV

В<V==O дотD8<у64т8EO тDудо6оW д8EF8плV=8

Ко<плекE=е (E8Eте<=е) 68DVHе==O Dо5оG8E пDо5ле<

Ад4пт86=VEть т4 7=уGкVEть

І=VFV4т86=VEть, т6оDG89 пVдEVд до EпD468

КD8т8G=е <8Eле==O

�<оFV9=89 V=телект 

Зд4т=VEть до 5474то74д4G=оEтV

В<V==O дVOт8 6 у<о64E EтDеEу

'� �������''�&Ь!/ ��� '�! ����О&О�К� �� ��(О. О!��&�ЬО. � О� ��О. 
���'&&/ ��О�'��'��� ��)О� О!��&� !О&��ЛЬ��% ����'ОК (SOFT SKILLS)?

&4к �V �46ко 6Vдпо6VEт8
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'� �'ЛО ��� �����О �О�Л���!&Ь О�� �&� ���'�ЛЬ�� 
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О�!/�' О!��&�ЬО� � О� ���?
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'� ���О�О ��� � О �О�Л���!&Ь �� �%'����/ ОК ���%  ��'ЛЬ&�&�� 
О& �����% ' ����% ��$О ��ЛЬ�О� О!��&� (�� О!�О�� !� &�$�К�&�� � О 

��К��'���/ О�Л���-К' !�� ������ ��, & �������, & '�О�О�О �О!���' &О)О)?
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О&���&Ь, �'�Ь Л�!К�, ��!К�ЛЬК� �� О����О�Л��� 
� �ОЛ�&�КО. �К�����'�О� �О� О'�!�О!&� � К�� 

��. ��О / !�КО !ЬКО�О?
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�D468л4 F8ту64==O 74по78Gе=8E текEтV6 V пD468л4 
поE8л4==O =4 68коD8Eт4=у лVтеD4туDу

�D468л4 68коD8Eт4==O V=EтDу<е=тV6 HтуG=о7о 
V=телекту длO 68ко=4==O п8Eь<о68E Dо5Vт

/К '�!&О �� О�О�� !���!& ' �� О��О�О .��Л� � ��КЛ���'��� 
&�К� ��&���/?
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��!К�ЛЬК� �О(� ��� !� �� ��(�% О��ОК' !��К�� ��!&'��� 
� О/�� �О�����К�:
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�оEлV6=е копVN64==O DD47<е=тV6 текEту  5е7 =4ле6=о7о 
оDоD<ле==O F8ту64==O

�=еEе==O =е7=4G=8E пD46ок у EкопV9о64=89 <4теDV4л  т4 5е7 
=4ле6=о7о оDоD<ле==O F8ту64==O

�DедEт46ле==O Eу<VHV 6л4E=8E V 74по78Gе=8E 4D7у<е=тV6 5е7 
=4ле6=о7о F8ту64==O

�4D4DD474 – пеDек47 E6оW<8 Eло64<8 Gу68E ду<ок, Vде9 45о 
текEту

Ко<пVлOFVO – Eт6оDе==O 7=4G=о7о <4E86у текEту 5е7 
по7л85ле=о7о 686Gе==O пDо5ле<8 HлOEо< копVN64==O текEту 

!4<опл47V4т 

��!К�ЛЬК� �О(� ��� !� �� ��(�% О��ОК' !��К�� ��!&'��� 
� О/�� �О�����К� ��� '�! ��КО����/  О��&:
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��!К �����&���� ��!ЛО�Л.����/ (О� ��Л���, 
� ����Л��� &�� �����/ )О�О О!�� �� ���!&��� !&�&�, 
�О���(�О!&�, О�/�', !�К!'�ЛЬ�О� О ���&�&�� &О)О)

'&�!К� (�������� �Л/ О!О�� &�/��О � '�� О!�� 
�О�����К�, ��&О. ��О ��!Л��КО� /КО� � 

� �������/ �%�ЬО� Л.�!ЬКО� ����О!&� �� ������� 
О���К��� ��О !&�О ���/ !&О!О��О &�КО� О!О�� '� 
� '�� О!�� ��� '���О�, �О О�О�, О� ��Л��О� ��О 

������Л��О� �&�О!$� �)

��� !�К!'�ЛЬ�О�О %� �К&� ', �� ����� !ЛО��!�О 
(�О� О��, ��Л/К'����/, ��� �!&О��� ��'������/)

'� �'��/Л�!/ � '���� !�&�&� � �ОК' ��(�% О!�� )О�О ��! &�К� 
� О/�� �О�����К�?
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О7олоHе==O до74=8

/К� !��К&�� )О�О ��'КО�О-�����О��'��% � �&����К�� '  ��� ��/�Л���/ &� 
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�етод8 V=DоD<4FV9=о7о поHуку
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�О�’/������ � �О& �����/� � ��&���� �К�����'�О� �О� О'�!�О!&�:
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���'�Ь � ��КЛ���'�� ����' �����О О�' �� 
!КЛ�����//�� �!КЛ�����/ �!��&'/��Л�К' 
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